2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

President	ial Primary Election:	Presidentia	al General Election:			
	arch 19, 2024	November 5, 2024				
	uesday after the first Monday in March Deadlines (by 4:00pm)	Held on the first Tuesday after the first Monday in November Filing Deadlines (by 4:00pm)				
Party Candidates*:	12/20/2023	Independent Candidates*:	8/7/2024			
Write-in Candidates*:	1/8/2024**	Write-in Candidates*:	8/26/2024**			
*For President / Vice President, contact the	e office of the Ohio Secretary of State, Elections Division	*For President / Vice President, contact the o	office of the Ohio Secretary of State, Elections Division			
Questions and Issues:	12/20/2023	Questions and Issues:	8/7/2024			
Charter Amendments:	11/20/2023 – 1/19/2024	Charter Amendments:	7/8/2024 – 9/6/2024			
(60-120 days before Primary)	Ordinance passage and BOE filing window	(60-120 days before General)	Ordinance passage and BOE filing window			

NOTE: Voter registration deadline is 2/20/2024\*\* for primary election and 10/7/2024\*\* for general election. Early voting begins 2/20/2024 for primary election and 10/8/2024 for general election.

### **Table of Contents**

Office	Page
President / Vice President:	2
Representative to Congress/ United States Senate:	2
State Senator:	3
State Representative:	4-5
County Executive Offices:	6-7
Justice of the Ohio Supreme Court:	8
Judge of the Court of Appeals:	9
Judge of the Court of Common Pleas:	10
State and County Central Committees:	11
Delegates and Alternates to the National Convention:	12
Write-ins:	13

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov

<sup>\*\*</sup> In some instances, the statutory deadline falls on a day when the offices of the Secretary of State and boards of elections are closed. In those instances, the deadlines are extended, pursuant to R.C. 1.14, to the next succeeding day when the appropriate office is open for regular business hours. The preceding dates reflect the extended deadline.

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

# **Federal Offices: President / Vice President and Representative to Congress**

Date of Elections:

Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
President / Vice President Incumbents: Joe Biden/ Kamala Harris	4 years	1/20/2025 to 1/19/2029	1	Contact the office of the Ohio Secretary of State, Elections Division: 614-466-2655 (or 877-767-6446 x2) www.OhioSecretaryofState.gov				
U.S. Senator Incumbent: Sherrod Brown	6 years	1/3/2025 to 1/2/2031	1	Contact the office of the Ohio Secretary of State, Elections Division: 614-466-2655 (or 877-767-6446 ext.2) <a href="www.OhioSecretaryofState.gov">www.OhioSecretaryofState.gov</a>				
Representative to Congress  1st District	2	1/3/2025 to	1	\$85	Party	2-E	50-150	12/20/2023
Incumbent: Greg Landsman	2 years	1/2/2027	1	<b>Ş</b> 65	Independent	3-F	2,991-8,973	3/18/2024
Representative to Congress 8 <sup>th</sup> District Incumbent: Warren Davidson	2 years	1/3/2025 to 1/2/2027	1	Contact the Butler County Board of Elections (513) 887-3700 1802 Princeton Rd., Ste. 600 Hamilton, OH 45011 www.elections.bcohio.gov				L

#### Note

President / Vice President candidates file with the Ohio Secretary of State, including independents.

- U.S. Representative, 1st District candidates file with Hamilton County and includes Warren County
- U.S. Representative, **8**<sup>th</sup> **District** candidates file with Butler County and includes Darke, Hamilton(part), Miami and Preble counties Party Signature Requirement figures are for major party candidates.

**Information Contacts:** 

 $\underline{www.VoteHamiltonCountyOhio.gov}$ 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

## **Ohio General Assembly: State Senator**

Date of Elections:

Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
State Senator 8 <sup>th</sup> District	4 voors	1/1/2025 to	1	ĆOF	Party	2-F	50-150	12/20/2023
Incumbent: Louis W. Blessing III	4 years	12/31/2028	1	\$85	Independent	3-G	1,381-4,143	3/18/2024

#### Note

Party Signature Requirement figures are for major party candidates

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051  $\underline{www.VoteHamiltonCountyOhio.gov}$ 

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

# Ohio General Assembly: State Representative (24th – 27th Districts)

Date of Elections:

Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
State Representative  24 <sup>th</sup> District	2 years	1/1/2025 to	1	\$85	Party	2-F	50-150	12/20/2023
Incumbent: Dani Isaacsohn	2 years	12/31/2026	1	200	Independent	3-G	313-939	3/18/2024
State Representative	2	1/1/2025 to	4	\$85	Party	2-F	50-150	12/20/2023
<b>25</b> <sup>th</sup> <b>District</b> Incumbent: Cecil Thomas	strict 2 years 12	12/31/2026	1	دەد	Independent	3-G	301-903	3/18/2024
State Representative  26 <sup>th</sup> District	2 400 000	1/1/2025 to	1	\$85	Party	2-F	50-150	12/20/2023
Incumbent: Sedrick Denson	2 years	12/31/2026	1	\$65	Independent	3-G	481-1,443	3/18/2024
State Representative  27 <sup>th</sup> District	2 400 000	1/1/2025 to	1	\$85	Party	2-F	50-150	12/20/2023
Incumbent: Rachel B. Baker	2 years	12/31/2026	1	\$65	Independent	3-G	567-1,701	3/18/2024

#### Note

Party Signature Requirement figures are for major party candidates

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

# Ohio General Assembly: State Representative (28th – 30th Districts)

Date of Elections:

Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
State Representative  28 <sup>th</sup> District	2 years	1/1/2025 to	1	ĊOF	Party	2-F	50-150	12/20/2023
Incumbent: Jessica E. Miranda	2 years	12/31/2026	1	\$85	Independent	3-G	496-1,488	3/18/2024
State Representative  29th District	2 years	1/1/2025 to	1	\$85	Party	2-F	50-150	12/20/2023
Incumbent: Cindy Abrams	2 years	12/31/2026	1	\$65	Independent	3-G	396-1,188	3/18/2024
State Representative 30 <sup>th</sup> District	2 voars	1/1/2025 to	1	\$85	Party	2-F	50-150	12/20/2023
Incumbent: Bill Seitz	2 years	12/31/2026	1	Ç05	Independent	3-G	485-1,455	3/18/2024

#### Note

Party Signature Requirement figures are for major party candidates

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051  $\underline{www.VoteHamiltonCountyOhio.gov}$ 

2024 Schedule of Elected Offices

# County Executive Offices (page 1 of 2)

Date of Election: Primary Election

March 19, 2024

Date of Election: General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
County Commissioner	4	1/2/2025 to	4	¢00	Party	2-G	50-150	12/20/2023
Incumbent: Alicia Reece	4 years	1/1/2029	1	\$80	Independent	3-H	3,040-9,120	3/18/2024
County Commissioner	4.400.00	1/3/2025 to	1	ćso	Party	2-G	50-150	12/20/2023
Incumbent: Denise Driehaus	4 years	1/2/2029	1	\$80	Independent	3-H	3,040-9,120	3/18/2024
Prosecuting Attorney	4	1/6/2025 to	1	\$80	Party	2-G	50-150	12/20/2023
Incumbent: Melissa Powers	4 years	12/31/2028	1	<b>300</b>	Independent	3-H	3,040-9,120	3/18/2024
Clerk of Courts	4	1/6/2025 to	1	¢00	Party	2-G	50-150	12/20/2023
Incumbent: Pavan Parikh	4 years	12/31/2028	1	\$80	Independent	3-H	3,040-9,120	3/18/2024
Sheriff	Avoors	1/6/2025 to	1	ĆSO	Party	2-G	50-150	12/20/2023
Incumbent: Charmaine McGuffey	4 years	12/31/2028	1	\$80	Independent	3-H	3,040-9,120	3/18/2024

**Note:** Party Signature Requirement figures are for major party candidates

**Information Contacts:** 

Information Subject to Change

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov

4700 Smith Road Cincinnati, OH 45212

Updated: 3/22/2024

2024 Schedule of Elected Offices

# County Executive Offices (page 2 of 2)

Date of Elections: Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
County Recorder	_	1/6/2025 to		<b>†</b> 00	Party	2-G	50-150	12/20/2023
Incumbent: Scott Crowley	4 years	12/31/2028	1	\$80	Independent	3-H	3,040-9,120	3/18/2024
County Treasurer	4.0000	9/1/2025 to	1	ćao	Party	2-G	50-150	12/20/2023
Incumbent: Jill Schiller	4 years 9/2/2029	1	\$80	Independent	3-H	3,040-9,120	3/18/2024	
County Engineer	4	1/6/2025 to	1	¢00	Party	2-G	50-150	12/20/2023
Incumbent: Eric J. Beck	4 years	4 years 12/31/2028	1	\$80	Independent	3-H	3,040-9,120	3/18/2024
Coroner	4	1/6/2025 to	1	ćao	Party	2-G	50-150	12/20/2023
Incumbent: Lakshmi Kode 4 ye Sammarco	4 years	4 years 12/31/2028	1	\$80	Independent	3-H	3,040-9,120	3/18/2024
Auditor	Unexpired	Ending	1	NI/A	Party	Form 289	N/A	8/12/2024
Acting: Amy Humphrey	Term	3/7/2027	1	N/A	Independent	3-H	750-1,500	4/1/2024

**<u>Note:</u>** Party Signature Requirement figures are for major party candidates

**Information Contacts:** 

Information Subject to Change

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov

4700 Smith Road Cincinnati, OH 45212

Updated: 3/22/2024

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

# **Judicial Offices: Justice of the Ohio Supreme Court**

Date of Elections:

Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)	
Justice, Ohio Supreme Court Incumbent: Michael P. Donnelly	6 years	1/1/2025 to 12/31/2030	1						
Justice, Ohio Supreme Court Incumbent: Melody J. Stewart	6 years	1/2/2025 to 1/1/2031	1	Contact the office of the Ohio Secretary of State, Elections Division: 614-466-2655 (or 877-767-6446 x1) www.OhioSOS.gov					
Justice, Ohio Supreme Court Incumbent: Joseph T. Deters	Unexpired Term	Ending 12/31/2026	1						

#### Note

Justice of the Ohio Supreme Court candidates file with the Ohio Secretary of State

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051  $\underline{www.VoteHamiltonCountyOhio.gov}$ 

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

## **Judicial Offices: Judge of the Court of Appeals**

Date of Elections:

Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
Judge, Court of Appeals  1st District	6 years	2/9/2025 to	1	\$80	Party	2-FJ	50-150	12/20/2023
Incumbent: Pierre Bergeron	o years	2/8/2031	1	<b>780</b>	Independent	3-G	3,040-9,120	3/18/2024
Judge, Court of Appeals  1st District	6 years	2/10/2025 to	1	\$80	Party	2-FJ	50-150	12/20/2023
Incumbent: Marilyn Zayas	6 years	2/9/2031	1	<b>700</b>	Independent	3-G	3,040-9,120	3/18/2024
Judge, Court of Appeals  1st District	6 years	2/11/2025 to	1	\$80	Party	2-FJ	50-150	12/20/2023
Incumbent: Candace Crouse	o years	2/10/2031	1	780	Independent	3-G	3,040-9,120	3/18/2024
Judge, Court of Appeals  1st District	6 years	2/12/2025 to	1	\$80	Party	2-FJ	50-150	12/20/2023
Incumbent: Robert C. Winkler	6 years	2/11/2031	1	<b>νου</b>	Independent	3-G	3,040-9,120	3/18/2024

#### Note

Party Signature Requirement figures are for major party candidates

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov

2024 Schedule of Elected Offices

Judicial Offices: Judge of the Court of Common Pleas

Date of Elections:

Primary Election March 19, 2024 General Election November 5, 2024

Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
Judge, Court of Common Pleas	6	1/1/2025 to	1	\$80	Party	2-GJ	50-150	12/20/2023
General Division Incumbent: Terry Nestor	years 12/31/2030		1	<b>3</b> 60	Independent	3-H	3,040-9,120	3/18/2024
Judge, Court of Common Pleas  General Division	6	4/1/2025 to	2	\$80	Party	2-GJ	50-150	12/20/2023
Incumbents: Leslie Ghiz & Lisa Allen	years	3/31/2031	2	<b>9</b> 80	Independent	3-H	3,040-9,120	3/18/2024

#### Note

Party Signature Requirement figures are for major party candidates

**Information Contacts:** 

Information Subject to Change

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov 4700 Smith Road

Cincinnati, OH 45212

Updated: 3/22/2024

2024 Schedule of Elected Offices

Information Subject to Change

Updated: 3/22/2024

# **Major Political Party: Central Committees**

Date of Election: Primary Election March 19, 2024

<u>State</u> Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
Member, <b>State</b> Central Committee, <u>Republican</u> <b>8</b> <sup>th</sup> and <b>9</b> <sup>th</sup> Districts	2 years	TBD	1 man and 1 woman per district	None	Party	2-J	5-15	12/20/2023
Member, <b>State</b> Central Committee, <u>Democratic</u> <b>8</b> <sup>th</sup> <b>and 9</b> <sup>th</sup> <b>Districts</b>	Democratic Sta 2026 ballot	Democratic State Central Committee members are currently serving a 4 year term; Not on the 2024 ballot; Will be on the 2026 ballot						

<u>County</u> Office	Length of Term	Term Dates	Number to be Elected	Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)
Member, <b>County</b> Central Committee, <b>Democratic</b> <b>All county precincts</b>	2 years	TBD	1 per precinct	None	Party	2-M	None	12/20/2023
Member, <b>County</b> Central Committee, <u>Republican</u> <b>All county precincts</b>	Republican County Central Committee members are currently serving a 4 year term; Not on the 2024 ballot; Will be on the 2026 ballot							

#### Note

Member, **State** Central Committee, **7**<sup>th</sup> **District** Republican candidates file with Warren County and includes Hamilton and Butler counties **Major** political party **State** central committee members are elected by state senatorial district

**Information Contacts:** 

www.VoteHamiltonCountyOhio.gov

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

# Major Political Party: Delegates and Alternatives to the National Convention

Date of Election: Primary Election March 19, 2024

Democratic Party*		Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)	
Delegate- <u>At-Large</u> or Alternate- <u>At-Large</u> to the National Convention	File with the Ohio Secretary of State	Contact the office of the Ohio Secretary of State, Elections Division: 614-466-2655 (or 877-767-6446 x1); www.OhioSOS.gov					

Republican Party*		Filing Fee	Type of Petition	Petition Form	Signature Requirement	Filing Deadline (by 4:00pm)	
Delegate- <u>At-Large</u> or Alternate- <u>At-Large</u> to the National Convention	File with the Ohio Secretary of State	Contact the office of the Ohio Secretary of State, Elections Division: 614-466-2655 (or 877-767-6446 x1); www.OhioSOS.gov					
District Delegate or District Alternate to the National Convention  1st Congressional District	File with the Hamilton County Board of Elections	None	Single <sup>&amp;</sup> Several / Group#	2-P 2-Q	50-150 50-150	12/20/2023	
<u>District</u> Delegate or <u>District</u> Alternate to the National Convention 8th Congressional District	File with the Butler County Board of Elections	Contact the Butler County Board of Elections (513) 887-3700 1802 Princeton Rd., Ste. 600 Hamilton, OH 45011 www.elections.bcohio.gov					

#### Note

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov

<sup>\*</sup>Information about delegates / alternates is subject to change per political party rules

<sup>&</sup>lt;sup>&</sup>Type of Petition "Single": Forms 2-R and 2-S also required

<sup>\*</sup>Type of Petition "Several / Group": Forms 2-T and 2-U also required

2024 Schedule of Elected Offices

Information Subject to Change Updated: 3/22/2024

### **Write-in Candidates**

A write-in candidate must meet all of the qualifications of the office being sought. Please review the qualifications for the specific office being sought.

#### Filing Deadline\*

Write-in for Primary Election: 1/8/2024 (by 4:00pm)
Write-in for General Election: 8/26/2024 (by 4:00pm)

#### Filing Fee\*

A write-in candidate must pay the same filing fee as any other candidate for the office. Please review the filing fee information for the specific office being sought.

#### Petition Form\*

- 13: For all offices except President / Vice President, U.S. Senator, Representative to Congress, or Governor / Lieutenant Governor (Files in Hamilton County)
- 13-B: For Governor / Lieutenant Governor (Files with Secretary of State)
- 13-C: For U.S. Senator (Files with Secretary of State) or Representative to Congress (1st District files in Hamilton County, 8th District files in Butler County)

#### Note

\*Write-in candidates for President / Vice President: Contact the office of the Ohio Secretary of State, Elections Division

A write-in candidate must file his or her declaration of intent to be a write-in candidate form with the appropriate county board of elections or the Ohio Secretary of State's Office, as applicable. Please review the section for the specific office being sought.

No write-in space may appear for the office of state central committee of a political party in Ohio.

**Information Contacts:** 

Michael Harlow 513-632-7015 Karen McDaniel 513-632-7051 www.VoteHamiltonCountyOhio.gov